Trees and plants (32 GBP)
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Location

Two trees , one cherry and one rather unusual with prickly leaves and in Summer has hanging purple
berries leaves change colour also a Mohonia bush which has pink flowers in Winter it can grow quite tall
and wide and stays green all year. Plants and trees are healthy and attractive and at present in pots
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needing to go in the earth for full potential. Size of trees 5ft 6inchs at present and bush about 4ft with thick
trunk. Trees £10 each bush £12 cost in a nursery would be very expensive as | paid more when | bought

them. Can be bought.
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